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Off-policy MC prediction (policy evaluation) for estimating Q) =~ ¢,

Input: an arbitrary target policy 7

Initialize, for all s € §, a € A(s):
Q(s,a) € R (arbitrarily)
C(s,a) <0

Loop forever (for each episode):
” b « any policy with coverage of 7
GGenerate an episode following b: Sg, Ag, R1,...,S7_1,Ar_1, Rr
G+ 0
W1
Loop for each step of episode, t = T—-1,T-2,...,0, while W # 0:
G +— vG + Riq
C(St, Af) — C(S[, At) + W &
Q(St, At) « Q(St, A¢) + C(QVA y (G — Q(St, Ay)]

7 ""(4|St)
A e

Govesde tus b do plicey heaabon



?.b_\JV\aMMc— Vwﬁmww--, Mowke Cewrls
! v .
erUv Vb Ve Vi replaces Vi
QOO"S“'YKffle NI\' Lo*’ﬁ)‘ﬂ’ff"—é‘

MDP o ;
herg uprak Dlfference learning
[ “’I'V‘M” bbb Il,
RL Sauplng + Bootsiappig



Monte Conle
V() & V(s)+ o [Gr ~ V()]

E k\eskvw‘v

\/(&t) & V(se) v+ [Q-L'H “‘legh—\) B

~\V(st)

==

’T'D(J) - sinde d’af look alesd



V() % E [y || T Mok &b

- GIRE-H"")‘&“‘“ ,g"" ] ra;x‘}lg
& Volnes

stx,s]
— Tb(o)

= b [&41*‘*"}5 (gw)

Q&u Driving o



Elapsed Time Predicted Predicted

State (minutes) Time to Go  Total Time
leaving office, friday at 6 0 30 30
reach car, raining 5 35 40
exiting highway 20 15 35
2ndary road, behind truck 30 10 40
entering home street 40 3 43
arrive home 43 0 43
45 - 45 -
___Aactual outcome actual
outcome
. - 40 -
Predicted
total
travel 35 - 35
time
30 30
T T I 1 I T | I I I I I
leaving reach exiting 2ndary home arrive leaving reach exiting 2ndary home arrive
office car highway road street home office  car highway road street home

Situation Situation




